§43 B PERG AR -V HF U YT

=V RN

3 B A3 MR AR =Y B - RS AR—D G
BB PROAPSL L PREUTNE— VR - PEFLE - - ERE
3 HF ORELZAR—Y5F ¥ UTRR—)VE PFFRER
P TORAefF 112 (F) -3 (7)) -4 (PPe3) Ao (D)
EN s PR TR T ET R %Y =
B iU 8%405~ AR—W P W EEHTEGTEIL,
B K U Tbikn, L. #UlEHSE &0 #ARZICTH 9,
z O i ﬂ\:‘?i@’ﬁ‘?}ﬂbi?‘?0)??‘75‘55\?'%’5”&$y§“? DRF8SE
£FY—TH, SaE
No F—L% 1 2 3 4 5 6 B || & (km IBAL
N O (@) A O
= =/,
1| ERITVF4—X 0% 0l7 5 1175 70452 3 70102
_ X X X X
2 | LESEEMI | o 0 # 20| 0 # 20 0 % 20 0]0|4(80 6
- S — x O O x
3 | BEZa=TSCl o w0 10%}21%}22 41211 4
| &2 | o 0o X
4| BRIA—2R s 0w o 7?#02?9‘62 o (1]13] 3
% X X X
BFI)—2
5| BEFzU=R |, o, 2 % 10| 0 ® 7 1?#80 014129 5
. o o o o
6 | BEFvvY 0% 02 % 1|6% 2|8 ® 1 418|041
HEBBRTERRE ZF
1HH(38) 2HH (48)
ABKi5 DEkI% ABKi5 DEkI5
F—5E 20 0 7 0 7 7 1 2
i "% 2 4 ' x5 1 x4 3 w2
F_HE 7 1 2 6 0 20 10 2
1 'w 3 4w 6 2 "7 4 3 s 5
EF=xE 0 20 1 8 0 20 4 2
2 it 3 5 *f 6 2 %f 6 1 3] 5
11A3B(H)48 (A M)A ESH%BTERRH
38 (H) 48 (A-#) B
=_ta OFF30% 9RF0073 B B | aFfvyy
[ ‘
_ HEf EFERITUT4—X
EoHE 11653043 115005y | F|_m | ERIVTA
= | BRIA—2 R
R 13853059 1385005




